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2.2
1 Vinre 15 Vork+
2 Crcam 16 Vork-
3 Crcar2 17 VoLp+
4 VinsL+ 18 VoLp-
S) VinsL- 19 GNDp
6 Vos. 20 VNFTK
7 VNFrC 21 PVee
8 Voo 22 GNDpre
9 PVear 23 VinLD
10 GNDp 24 Crker2
u Vos.- 25 Crkem
12 Vos.+ 26 ViNTK
13 Vorc 27 BIAS
14 Vorc+ 28 ST-BY
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3.1
y Ta=25C
Ve 135
PVeer Ve \
PV Ve
17 ¢ ) W
Tamb -35 ~ 85 OC
-55 ~ 150 T
PCB(70mmX70mm,  1.6mm ) LTam= 25C ,
1C, 13.6mw.
3.2
Ve 4.3 13.2
PVca 43 Vee \Y;
PVeeo 43 Vee
3.3
y Taw=25C, V=12V, PVcei=PVc=5V, BIAS=25V, R =8Q
R4~=0.5Q, C=100Pf
leco 18 27 | m
loor -6 6 mA
Vom 3.6 4.0 V
Om Vn=BIAS+0.2V 13 15 1.7 AN
Viem -0.3 11.0 V
lgop 30 300 nA
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VoLor 0.1 0.3 \Y;
lso 03 05 mA
lg 1 mA
V oors. -100 0 100 mvV
Voms. 75 9.0 \Y;
Avg Vin=10.2V 18.0 20.0 220 dB
VoorLD -50 0 50 mv
VomLp 36 4.0 \Y,
Avip Vn=BIAS=+0.2V 135 155 175 dB
FeR A AVLD V|N=B|ASi 0.2v 0 1 2 dB
lsr 05 mA
Vsron 0 05 \Y
V srore 20
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